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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9032013203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

According to the de Broglie relation, a particle with a low momentum has

long wavelength whereas a particle with a high momentum has
& (670 0BT [ 80, 84S (89530 &) del Bdsdol Bdso

&0E000, BONE 80} (D FKa &) SRS

Options:
long wavelength
08 8&oi BEso

1

short wavelength
S80S SS0N TYsO

2.8

medium wavelength
_ &5 S308 Bso

3 3

high wavelength
O SS0K BRSO

4, =

Question Number : 2 Question Id : 9032013204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Which one of the following element has highest 1omzation energy
208 Jrodos T8 0 B8 ©dhdESn 53 &otwod

Options :

_ [Ne] 3s” 3p'

1.

[Ne] 3s° 3p’

2. %

[Ne] 3s” 3p

3d", 45°4p°

4. %

Question Number : 3 Question Id : 9032013205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The radii of F, F", O, O™ are in the order:
F,F, 0, 0" sargre 15800:

Options :

0°>0 >F>F

F>0">F>0

2. %



O >F>TF >0

3. %

O >F>0Q>F

4,

Question Number : 4 Question Id : 9032013206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The bonds present in N,Os are
N20s S &) 22057en

Options :

covalent and coordinate
DB 8w §'es8T¢E

1.4

Covalent and ionic

0B DO DB ASTIE

only covalent

DNV DD 5775

only ionic
- @OSTE S5



Question Number : 5 Question Id : 9032013207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The rate of diffusion of hydrogen 1s about
375023S 75 D ST Ber G0N0

Options :

2V2 times that of oxygen
w8yl o8 2v2 BeW

1. %

2 times that of oxygen
w82 508 2 BEW

2. %

4 times that of oxygen
| o8ed 508 4 BCY

16 times that of oxygen
, =8yeS Bod3 16 BEY

Question Number : 6 Question Id : 9032013208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



How many moles of CaCO; are present n 100.0g of caletum carbonate?
1000 (F 5Oaho $8)TES CaC0; By V) 7S ) ) a7

Options :

0.1 mol

, » 2mol

1 mol
3. %

10 mol

4, %

Question Number : 7 Question Id : 9032013209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The oxidation number of phosphorous i Ba(H,PO,), 1s:
Ba(HP0,),S aFd 38R esd 18889 NODS:

Options :



Question Number : 8 Question Id : 9032013210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

For the reaction, A +B — C, AH =+16 kJmol™ AS°=+40 T mol K"
the reaction 1s spontancous at the temperature:
A+B— C, 03 9A3ah®, AR =+16 KoLt AS°=+40 T mol™K™ 900

e3[R Sorp 2 G e 0 drbhe0d

Options :

200K

1.

300 K

2.

400K

3.

600 K

4. &

Question Number : 9 Question Id : 9032013211 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The pH value of 10™ N potassium hydroxide solution s
107N SPEFA0D0 IFEINE (P60 ABNE) pH aend

Options :

4
10—10

10

3. ¢

Question Number : 10 Question Id : 9032013212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In an electrochemical cell for a reaction A— B, Nernst equation 1s given
by the equation

28 8|S IIOS 367 4 - B 6F 565, 3) d¥8eR) 1y

OJOWATAW
Options :
E=E - 2L jnl2
nF  [A]



E=E -—1In
nF  [B]
2. %
: RT . [B]
E=E - 2.303—In—
nF  [A]
3. %
E= 2
L RT  [A]

Question Number : 11 Question Id : 9032013213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When Na,O 15 added to water , the solution 1s basic because 1t contains
the 1on

ASS Nas0 SB0t50A859), & A5 a0IY B8RS S
(TP FEOM GOENOE

Options :



Na’

Question Number : 12 Question Id : 9032013214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In diborane the two H-B-H angles are nearly:
BS5BSS’ Bock H-B-H e

Options:

60", 120
1. #

95.,120°
2. ¥

957,150
3, #

120°,180°
4, =

Question Number : 13 Question Id : 9032013215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which one of the following s correct set for S10, ?
808 ¢3S DB 810,800 BT T Bohadod?

Options:
linear, acidic
. BDAD, €350
linear, basic
BDAD, 6
2. %

tetrahedral, acidic
BRPIFEO, €80

angular, basic

§°e30%, &

Question Number : 14 Question Id : 9032013216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The number of unpaired electrons in Yb ™~ and Eu™ is
Y0 08050 E¥'eS S B Qoo o

Options:

7.0



2. ®
7.4
3. %
0,7
4, &

Question Number : 15 Question Id : 9032013217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the lists grven below
300 93 ;030 BN A88F )04

ListI ListII
FCC . Rhombohedral §053RESO
BCC 2. Triclinic @%&35

C.  azbee; a=p=y=90" 3. Monoclinic 376 SQ@
D. bz o==90% £ 90° |4, tetragonal W20
5. NaCl

6.  CsCl

Choose the correct pairs;
0B 280 JOI0G:

Options :



A-1; B-4; C-2; D-3

A-5; B-6; C-4; D-3

A-5; B-6; C-4; D-2

A-6; B-5; C-4; D-2

4, %

Question Number : 16 Question Id : 9032013218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
One mole of component A and two moles of component B are mixed

at 27°C to form an 1deal binary solution. The AV, 1s
AS0¥T08) 2,8 IS, B0 B S0 R0oT0 IS ) 27°C 4

SO SBEIS0ERS BB [P0 DEIBRA. OV oy

Options:

3

(]



Question Number : 17 Question Id : 9032013219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

[n a reaction under certam conditions of pH the half Tife of sucrose 1s

20 min . How long 1t will take for the concentratton of sample to fall from
1.0 mmol L t0.0.23

mmol L pH G3w&) Ada) ;)6%3)@@@55 w8 OO e’ “(\D@’Bé 28020

DTN SONTS ST e 10 mmol L 00 025 mmol L8
DAFIES A0 N0 DI

Options :

40 min
1. %

30 min
20 min

10 min

Question Number : 18 Question Id : 9032013220 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The size of the colloidal particle 1s n the range
SOBSEN BN} DOSTE0 & AAYBS” &S00S

Options :

10° nm -10° nm

1. %

1000 nm- 1500 nm
2. %

10 nm — 100 nm
» I nm— 1000 nm

Question Number : 19 Question Id : 9032013221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When 80 grams of sodmum hydroxide 1s dissolved m1000 ml of water.
The molartty of the solution 1s:
30 [P FAH0 IPETIE 1000 ml S $8A0DS)

& [Pesn Ferde

Options:

1. %



1.5 M

1.0M

2.0M

0.75M

Question Number : 20 Question Id : 9032013222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Acid catalysed hydration of 1-pentene gives
1-20635 E¥) oG 613106 20 H08od 38 8% TAS T

3008
Options :

- pentane-1-ol

1. %

pentane 1,2-diol

2. %

n-pentane
3. %



pentane-2-ol
4,

Question Number : 21 Question Id : 9032013223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s more acidic

208 ¢3S B DEVYS DS &0enod

Options :
butane
8&705555

butene
awﬂegé%c%

butyne

=

m&é}w

ethane

=STaNS)

Question Number : 22 Question Id : 9032013224 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

[dentrfy the type of reaction (X) and major product (Y) formed m the
following reaction.

308 G585, 98¢ E5R) (X) 805 8IE (95 &6 )% (V) &
Hhod0d.

@ CHCHOHO
g
dry AICk,

X
Options :
X Y
Electrophilic substitution n-Propyl benzene
.Dejg 29§ (D0 {26 Boea
1. %
Free radical substitution n-Propyl benzene
2 T°GEE (HAENE0 NS BodS
)
Electrophilic substitution Isopropyl benzene
.Dejg 298 (HDEDdea0 0PRSS Boed
3.v



Free radical substitution Isopropyl benzene
2 OGS (HdFD80 oS Boed

Question Number : 23 Question Id : 9032013225 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From which of the following reactions propane can be prepared?

808 8BS (P00 @ 9850 008 SA5FE TohID)?

Options:

n-Propyl bromide with Na in dry ether
FE £ Na& n-TpS (&

1. %

Sodium propanoate with sodalime

- P& Jdabo THIADHES

2. %

Electrolysis of Sodium propanoate

- dabo [PHS XS @e), 5O

3. %

n-Propyl chloride with Zn, H+
Zn, H+& n-gpe5 §°8&

4. &



Question Number : 24 Question Id : 9032013226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Predict the number of (+I) and (-I) groups respectively from the
following st
308 28 D08 (+1) B0k () deirate dowsh B0 I0hod,
-CN, -Br, -CH(CH;),, -CHs, -OC¢H;

Options :
3, 2
1. %
3 3
2. ¢
1, 4
3. %
L« B

Question Number : 25 Question Id : 9032013227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The correct set of reagents that convert ethene to ethyne are
L3550 aBST &78) A8 850 Sbe



Options :

Br,/CCl,; alc. KOH, NaNH,

Br,/CCly alc. KOH

2. %
. HBr alc. KOH

HBr NaNH,

PHYSICS

Section Id : 90320147
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 25
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 90320151
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 9032013228 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Range of Electromagnetic force is

D,

DLrBAHT0EH DO @B TR
R [ = ]

Options :

Infinite

1 ¢ ®No83n

10 nm
2_%-5

10 em

Zero

Question Number : 27 Question Id : 9032013229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One parsec equals to
2.8 o8R8 (parsec) osre

Options:

10 ""m

308x10™ m



10" m

35x10%°m

Question Number : 28 Question Id : 9032013230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Area of velocity time graph represents

2.8 Ha) GwE) s - redn (P Gnd) Feresam LAY Beodd
Options:

Acceleration

erdaaim

7. % %
Retardation
2062655090300

2. % ad
Work done
=50

3_ w
Displacement
%ﬁ@oéﬁm

4.

Question Number : 29 Question Id : 9032013231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

If vector A = i + j then angle between vector A and x- axis is
A=i+] oond A 308 x-efn & Sonein
Options :

30°

. 60°

45"
3. %

9Q°

Question Number : 30 Question Id : 9032013232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

MLT " is dimentional formula for
©DI0 & Bol FTEE T°8 W8N

Options :

Force
D

’|_ W
Impulse
Blel)

2.4 .
Friction

“in
3. % WOQ8



Momentum
@533;56“{53:

4, =

Question Number : 31 Question Id : 9032013233 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If 10 kWh current is used in your exam hall, it is equal to
D HE8 Feood® DixE TAIID VTS 48 Erwe® w0 Dendd

Options :

36x10" J
1.9

36x10° J
2. %

B
L. 36x10°

36 x10° J

Question Number : 32 Question Id : 9032013234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Moment of inertia of circular disc of Radius R along diameter is
JErdand” D) GR) oY) axddn 0o ol el (s (b = R )
L] Ll G =3 ‘-E-'



Options :

MR?
1. %
MRZ"E
2. %
MRZ"E
3. %
MRZI'-’-I
4, &

Question Number : 33 Question Id : 9032013235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In a simple Harmonic motion phase difference between displacement and velocity.
o} nfﬂmééé Sodin i) %;é@oéai:o, dsne D e TG

Options :
I1
1. %
I/
/f j
2. ¢ =
I/
3.8 /72



Question Number : 34 Question Id : 9032013236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Escape speed from the surface of the earth is
g0 GIos) Herdhe Jrisn Hend Kmisec od®
Options :

51.3 Km/sec

15.5 Km/sec

11.2 Km/sec

5 Km/sec

Question Number : 35 Question Id : 9032013237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Young’'s modules units are
agoon Heessn @) (Hamresren

-

Options :



N/M

1. %
2
,» NM
3. % N
N-M?
4. %

Question Number : 36 Question Id : 9032013238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Melting point of substance depends on
2.8 *’mr_‘isﬁw T8, ($DYSD .%b““‘*“ == 3 UESHHRD

Options :

Volume
a0ee ROTPeRD

Pressure
S TAPA A

Entropy
JolET*D

Temperature
esis



Question Number : 37 Question Id : 9032013239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The concept of Temperature can be explained by
Bifid aws) ad8d (A Hory)) DH00HIL

Options :
Zeroth law
el DohshEm
1.4
First law

Second law
TOSS DA

Third law

: 5 _
SOTPCiay AIChDaa0

Question Number : 38 Question Id : 9032013240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Molar specific heat of monatomic gas at constant pressure (c;) is
D3 Soaren AN T JOLED Sree8 DBEPR0 (Cp) Densd

Options :

1. %



4, % %R

Question Number : 39 Question Id : 9032013241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

3
The no. of atoms present in 10 gm of ,,ca® [ Avagadro number N =6.023 x10 per mole]

o
3

10 (rine yca* $oti) Sosmmge Sogy o8 (ereE Sogy N=6023X10 )

3
Options :

23

6.023 X 10

1.50x10

3.01 % 10%



12 x 10%

Question Number : 40 Question Id : 9032013242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The mean free path ofa gas of diameter directly proportional to
0 e "‘Dm 2.8 P Sre co:; D -- o 65D S

@J,
-
o
g
e

Options :
1
e @
d2
2_ ]

Question Number : 41 Question Id : 9032013243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Awave in a string is represented as y (x, 1) =0.5 sin(80x-3t) then its frequency is
o8 &6° (HosrBod &8orrd) ¥ (x, 1) =0.3 sin(80x-3t) &2 S506° Bevdre wd Go¥) Dedeasn

Options :



0.48 Hz

2.09 Hz

40.0 Hz

7.85 Hz

Question Number : 42 Question Id : 9032013244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The power of a lense of focal length 1meter is
1 meter focal length 59 Seos %vaagm

Options :

0.1 dioptre

- 1 dioptre

0.5 dioptre
3, *®

10 dioptre

Question Number : 43 Question Id : 9032013245 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In young's double slit experiment fringe width pis equals to
ahoff wow HOse BErKes” ©E 0§ fringe width p oXse £08 SSrdsn

Options :

A d/D

Question Number : 44 Question Id : 9032013246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

According to Gauss's law electric flux through a closed surface s is equals to
T Do [Heeddn Sy welpe Fold --- Sakrdin

Options:
1
—4q
o
1.+
4149,/ ;
S AEE ;T



ATE, 1
3. %

1

Co
4. %

Question Number : 45 Question Id : 9032013247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

K.E of an electron is 1KV P.d is
1KV 82056 Poand® ol dogs Fold K8

Options :

1.6x10777

10 ev

1.6 kev

10%ev

Question Number : 46 Question Id : 9032013248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Drift velocity for unit Electric field strength is
e e sirn s FEnd’ o8 oThstsin froth B D --- woted

Options :
Change

L x O SRRy
Mobility
et Al AT o

5 ¥ S0UOE
Resistivit}r
QB IS

3. %
Mean free path
?c;::'?g DY oG

4. ®

Question Number : 47 Question Id : 9032013249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Relation between Resistivity (p)and current density (] ) is
2.8 a.cnfﬁm@‘ cUES‘c;t“é*“‘“ ()00 Deipd rolEE () © g Moo

Options :
E=jp
1.+
j=pE



Question Number : 48 Question Id : 9032013250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

lf ap of Copperis [p is resistivity]
2\ dT
ot L. ]-1':(-"?}[}1 - s — oy Rl
508 St s —| = des (o = ATE5S W)
.rC" Vil

Options :

Negative
200655330

Infinite
o % BROoS

Zero
- éﬁ;ﬁ;&:&
Positive
SarediBsim
4. =

Question Number : 49 Question Id : 9032013251 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A resistor have Orange, Green, Silver and Gold then its Resistance is
o8 s Orange, Green, Silver &odain Gold Sorben ad@pd ) AT S Deodd

Options :

150mQ

250mQ2

350mf2

550mQ2

Question Number : 50 Question Id : 9032013252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Magnetic field produced by a Circular wire of Radius R at its center is
R ammelin fo &6 (5roh Diys & &) EBo(Sin ¢ v Tk oo Zdn
] gl i i

dena

Options :

IL,R
B=—>

7|



2. %
3. -

B =p,IR
4, =

BIOLOGY

Section Id : 90320148
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 50
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 90320152
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 9032013253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Choose the correct statement
DB (D8I DotHS 0

Options :

Virus do not possess genetic material
ST 23805 DY) SN 0D

1. %

Virus 1s non-living
IR &ho BAS
2. ¥

Virus cell wall has cellulose

SED DewsSE EOR Gotwod
3, %

Virus cannot mfect
S8 BEDH
4, %

Question Number : 52 Question Id : 9032013254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following branch of science 1s meant for classification of organisms
229® G5B DeIBOT TR0 O
Options:

Morphology
2PaT°§ DTED T NO



Taxonomy
S58%8¢a 3 No

Anatomy
0680 DT T VO
3. %
Numerology
DOYP§ B QO
4. %

Question Number : 53 Question Id : 9032013255 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The arrangement of leaves on a plant 1s termed as
S0ES 3500 9085 e e0EFPS

Options :
Phyllotaxy
D DEO0
1.¢
Placentation
0TS0
Aestivation

adad)) O



Vennation
ERTITTEdD0

Question Number : 54 Question Id : 9032013256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Example of vegetative propagation of plants is
o5 Nt
08 FEAD (Dehged 18 TFNE) SIS

Options :

Binary fission

L x Q5T SALARTE
Sporulation
Dered DS

2. %

Grafting

@0eD 5EPE
3.¢

Fertilization

DOEES00
4. %

Question Number : 55 Question Id : 9032013257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following language 1s used for Scientific names of
organisms’

“ 5 < -
& 808 ¢3S @) S FLNAD HFEY (FADHDFTON

Options :

Latin

eSS
1. %

English

i 002
2. '

Sanskrit
DO AERO
- &re)

French
o

4. %

Question Number : 56 Question Id : 9032013258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Binomial nomenclature was given by the scientist
& 50D EBE (DB FTDE0E 5B

Options:
Carl Linnaeus

56 OT)0H

1.+



Aristotle

©83re3o
Mendel
DOTO
3_ W
Bentham
2300
4, %

Question Number : 57 Question Id : 9032013259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Organism having characteristics of both animals and plants 1s
2206%:9© DA I0E)e ToB0Es ©F re)ed $)A &) 82

Options:

Bacterium
ajﬂéfﬁ oNO

1. %

Paramecium

, x TTDA0NO

Hydra

—

O (T



Euglena
oSN

Question Number : 58 Question Id : 9032013260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following organisms can be used as biofertilizer?
808 e3¢5 DR 2 AN &I

Options :

Fungi
20w

Algae
Foderen

Viruses
SBoen

Parasites
T 2oyen

Question Number : 59 Question Id : 9032013261 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Meiosis occurs m which type of cells?
& B85S BearereT § 0HESE Db 2BHeHo

Options :

Somatic cells

- F20% &egren

Germ cells

y 1DeaT5eh yed Begren
2. i -

Bacterial cell

i wﬁ@@ e
3.

Sythetic cells

L x VOQESE Searen

Question Number : 60 Question Id : 9032013262 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following organism showing the characteristic feature of
Metamerism 1s

DIN0G 28330 (RErn820) @O & 806 206k ) ABNE)
o5 800?

Options :

Snail
1. % 05‘?:@

2.¥



Earthworm
ST oad)

Cockroach

- 008
3. %

Fish
DD

4. %

Question Number : 61 Question Id : 9032013263 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Example of a Hydrophyte 1s
e JnE) BV0E) GG

Options :

Pistia

R ToVY:
1. %

Nirmum
, x Boho

Opuntia

2ua) 0305
3. %

Asparagus

4 % SO0



Question Number : 62 Question Id : 9032013264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mendal did his experiments on which plant?
OGO & B0EY R (DTN DF°C?

Options :

Jasmin
ATSPIN

Rose
Herd)

Garden pea
S DT

Tomato
AYSViAY

Question Number : 63 Question Id : 9032013265 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The unit of chromosome for the package of DNA 1s
800 a3 D& DNA 25328 8503’ Snssy dorpemed 8 |ereao?

Options:



Centromere

xR0 a\te)
Chromomere

. SRS
Telomere

- S 05
Nucleosome
o5 S TS o

4. '

Question Number : 64 Question Id : 9032013266 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Tomato and potato belong to this famuily
EISTEF DGO 20T NN &3 B0EN02TVE TOODND

Options:

Fabaceae
P LEA TN
1. ®

Solanaceae
SFOTD

2. %

Lilliaceae

DA
3.



Malvaceae
&
AT LR

Question Number : 65 Question Id : 9032013267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Protection of threatened species is termed as
(DSBS &) eI TR T 50° 38

Options :
Legislation
- Do
Organization
o % OO

Conservation
D085

Preparation

eﬁiﬁ?é

Question Number : 66 Question Id : 9032013268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following 1s an example for connective tissue?
808 73S DO 208 e rd8 GG

Options :

Paranchyma
o PCDEE2TO0

Epithelium
DEEOHO

Cartilage
3.v YO

Endothelium
DOETEOAN0

Question Number : 67 Question Id : 9032013269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Tenia, the common tape worm belongs to this phylum
TIQOIP, G Do 570 & DB TOANE

Options :
Nematoda
AV

1. %
Plathyhelminthes
THTE 0B

2.¥



Annelida

3 8 ONOT
Mollusca
4% OO

Question Number : 68 Question Id : 9032013270 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Snakes belong to which of the following class?
Sr50e) 808 are3eS” ) SEHBE TOODD

Options :

Amphibia
€H0NTIO0

Reptilia
DB Syaren

Aves
Do )(2Bven)

Mammals
8 $ren

Question Number : 69 Question Id : 9032013271 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The locomotorystructure in 4moeba is
eey & §08 o eTe)d 88 §¢5ODE 2 od

Options :
Cilia
3Eew

Flagella
¥araio

Pseudopodia
QrE QA%

Tentacles
4 O8O

Question Number : 70 Question Id : 9032013272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Pneumonia 1s caused due to infection of which organ?
ETTQAT o) €9aIADTRE 5750 VOB VIR0

Options:
Liver

SSlON]e

1. %



Pancreas
§°50
2. %

Lungs

Z@nbededyen
3. ¢

Stomach
2300

4. %

Question Number : 71 Question Id : 9032013273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The prokaryotic organism showing conjugation 1s
& 808 ¢3S ) SO S8 5 2D HoANMA) Ty o

Options :

Virus
| % DO

Bacterim
2788090

2. ¥

Bacteriophage

. 256 S



Mycoplasma

ST

[ == k]

Question Number : 72 Question Id : 9032013274 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Inheritance of single gene can be observed in
2,8 23089 BE) ST ) A 10T

Options:

Monohybrid cross
DEH0EB

Dihybrid cross

8005089
2. %
Test cross
HB5 Hodde
3, %
Black cross
DY) 08B
4. %

Question Number : 73 Question Id : 9032013275 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Genetic code 1s a
Zoe3E £H &AM Sotnod

Options :
Doublet
. & B3005S0
Triplet
&5038650
2. ¢
Singlet
D8 S0BHO
3. %
Quadiuplet
, 25e 8 YOS50

Question Number : 74 Question Id : 9032013276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The nitrogenous base that differentiates DNA and RNA 1s
B DB BBV AT €52 5B

Options:
Adenine

OB
1. %

Guanine
TS0



Cytosine

RIARNES
3, %
Uracil
AT
4.

Question Number : 75 Question Id : 9032013277 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Amplification of gene of interest is done with
2030855 TBVEY YL HAS TAH VOO

Options :

ELISA

DO
> %

rDNA

S08 Do)
3. %

DNA finger printing

Lx B8 FO swicse



Question Number : 76 Question Id : 9032013278 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the correct statement
DB DEEIND DONE 0S
Options:

Antibiotics are prepared from viruses
a5r0e323307¢35 ) BER © 0B SOSFTONDT oW

Beverages are made with bacteria
(@ 3eT°eN) 2S5BS aST) TANETON
2. %

Biological control of pests 1s done with chemical pesticides
BDHF B50D0HE BN YD HOCHOS 2KIHEROE

Improvement of food quality 1s part of plant breeding
€3:3585 PERSEHD DD DBLI0 D DoDZOES (plant

breeding) 2.8 270
4.

Question Number : 77 Question Id : 9032013279 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The disease jaundice is caused due to damage of
SR T SBEOTT BaFOS. &) 270 Te)B0ENOdD

Options :



Kidney
o[ €HOCS0O

1. %
Liver
SBANO
2.
Heart
3 % Mo
Lung
gin0eseen

Question Number : 78 Question Id : 9032013280 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following vitamin 1s necessary for blood clotting?
S80 1560 ETS8 808 37365 9 DIV IGO0

Options :

A



Question Number : 79 Question Id : 9032013281 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Nephritis 1s related to damage of
DR (Nephritis) a5 o) 8950050 T2)) BITRS NODOHODIE?

Options :
Heart
o

’| e

Throat
fFoe%)

2. %

Ear
o)
3. %
Kidney
ST €5 OTI° N
4,

Question Number : 80 Question Id : 9032013282 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following 1s a chromosomal disorder?
806 73S DO (BPIrS dmeHd H00HODS Buiieh

Options :

Down’s syndrome
TS DoIE
1.¢

Haemophilia

FOPN e Dl rux
2. ®

Thalassenua
A AST

Alkuptonuria
LTSRN elo

Question Number : 81 Question Id : 9032013283 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Natural selection theory of evolution was proposed by
2)BET00 ARNEY, (0893 B DTT0BHO0 (23T OO0 DI

Options :

Mendel
DOTO



Lamark
, x 070y

Darwin

R HORLN,
3.

Hugo De Vries
SOt & (@R
4, %

Question Number : 82 Question Id : 9032013284 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Rearing of honeybees for honey is termed as
BTN BT §H0 DOVER DN 0ErSd

Options :

Pisciculture
D80

Animal breeding
2060 D0NE0

Sericulture
2068536

Apicluture
D D

4. &



Question Number : 83 Question Id : 9032013285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Inteferons are related to
808 ¢3S ROLBITAD ADE H020HODSD

Options :

Nervous system
g
°C3 55N

1%
Immune system
B QBEE 5830
2. %
Genetics
3 & DDE (RO
Reproduction
BTN MR
4. %

Question Number : 84 Question Id : 9032013286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer
QB DAFTTR), DOTNE 0



Options :

Osteoporosis 1s a muscular disorder
Se0 DANE 5 OTE Eochored Koifeh

1. %
Reflex actions are under the control of joints
9905 16 |DBSTEBDE Y) TiSsen §F AaHO(BEIS GOEFow
2. %
Eye and ear come under sensory organs
- o)) o805 TR Q0BOH €9:50hare 0B Sl ow
Adrenalin hormone 1s secreted by Thyroid gland
a1 1"565&5 Forand (108 weioe (%00
4, %

Question Number : 85 Question Id : 9032013287 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In Periplanetaamericana, Malpighian tubules are associated with
DO DT OIS, 2T 5LIG 0 TB0E) SHO FEren
(57 120DV EFen) & 806 FES BAS H02050 OB &0eron

Options:
Locomotion
R DININN

1. %
Respiration
RN



Circulation
|3 ED
3. %

Excretion
DS

Question Number : 86 Question Id : 9032013288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Earthworms breath through which body organ?
- € s &
TP o) 8 9650560 T 5T° T4 3 DFVOLTON

Options :
Lungs
Za8e3e)en
1. &
Mouth
,x O
Anus
(DS (PO o))
3. %
Skin
2980
4.9 "



Question Number : 87 Question Id : 9032013289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The red data book for endangered species 1s maintained by
©0SB0DNP D) 270 §O0 & B wreer 208 o joe

QG L0220

Options :

. » APTRI

ICRISAT

Question Number : 88 Question Id : 9032013290 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The death rate of population in Ecology is termed as
v B v v, w ot
@300 FN0S 230°2F 080N AFAD o0

Options:



Mortality

08 Tew
1.4
Natality
200 Bew
2_ W
Growth

3 x DMHO®

Distribution

L D

Question Number : 89 Question Id : 9032013291 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Test cross ratio 1s
DET® HoEGE0 T3NEY DA )E

Options :

B B4 e e |

12241



Question Number : 90 Question Id : 9032013292 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mark the correct statement
QB (298835 HBoH0G%

Options :

Stem cells are derived from blood
v, ¢ &
Srerdearen 350 o e3SDHTF oM

1. %
Gene therapy can be done for genetic disorders
220 5DB RS Bi5265>80 23005 L3776 )G DEed ) TN
2. %
MRI 1s done to detect heart beat
HOT §ENE Q) HB0NEDE MRI TOHCHEOD
3. %
Cancer controls the rate of cell division
525090, 829 232305 BN AADOENOE
4. %

Question Number : 91 Question Id : 9032013293 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who proposed Mutation theory?
&5¢53188 VDTPOTPAR), ) (Dedarddordd?



Options :

Lamarck
30},

1. %

Hugo De Vries

Foesh & J8R
2. %

Darwin
8 50

Hardy-Weinberg
358-58,0

Question Number : 92 Question Id : 9032013294 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct human endocrine gland
806 ¢3S DO AV @0eh|T7NE (0O

Options :
Liver
Sl eV e)
Lungs
2TF0NO
2. %



Pituitary

FATA VAT TS)
Intestines
4w (@O

Question Number : 93 Question Id : 9032013295 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Dialysis 1s carried with the failure of the organ
& 800 ©500N BIOLOS BOITOVD 2SN

Options :
Liver
SHONO
1. %
Heart
MO
2. %
Lung
gEnBescden
3. %
Kidney
. (€900

Question Number : 94 Question Id : 9032013296 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Peristalsis occurs in the following organ
& 800 @950HH0S DBFOVT H02DNOG

Options:
Kidney
o0 S DOCSO
1. %
Heart
5 % Moz
Brain
D
3, %
Stomach
2300
4.

Question Number : 95 Question Id : 9032013297 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Cochlea 1s a part of this organ
58 a5 &8 @500 2.8 2o

Options :

Ear

1@ (AT



Eye

2 % érﬁ}l
Nose
DBV,

3. %

Intestines
(@orHen
4. %

Question Number : 96 Question Id : 9032013298 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Plasmolysis occurs mn plant cell when 1t 1s placed m a solution
2080 880 & 80d @v&’mod‘iﬁ GO (5ad5 D080

MIerATA R 6T
Options :
[sotonic
Qo) I TR (L0
1. %
Hypertonic
L v O EITE (T O
Hypotonic

C9E) NITET® (TPIE0



Water
baTey)

Question Number : 97 Question Id : 9032013299 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Enzymes are
DOZDEN

Options :

Nucleic acids
SORO%D e8PeN

1.%
Proteins
2. %
Carbohydrates
D0 DTPTEN
3. %
Fats
S ooren
4. %

Question Number : 98 Question Id : 9032013300 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A sudden change in DNA or chromosome i1s termed as
BN B EFrSeneS 26T 652028 S0 a0y

Options:

Mutation
1 ¢ Cicd 38585

Linkage
doTeedd ) €4
2. %
Recombimation
2)d: COB3THO
3. %

Inheritance
D007 E S

Question Number : 99 Question Id : 9032013301 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following enzyme joins the DNA fragments
& 808 D0Zonw DNA &) 93800

Options :
Vector

=50

1. %



Polymerase
N0
2. %

Restriction enzyme
B NER D020

3. %
Ligase
S
4,

Question Number : 100 Question Id : 9032013302 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Protein synthesis occurs in
oo 1y & v
BPER SoFes & arfosS 28 Heod

Options :

Chloroplast
ST

Mitochondna
S 5P0|@OST

Nucleus



Ribosomes
B S s0en



